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2 Ll E 47 46 93| 28.0 | 65.0 |[AE

WiEH - 46 40 86 | 19.0 | 67.0 |[AE

3 [ETEe 40 43 83| 14.0] 69.0 |[AE

4 By 42 42 84| 14.0] 70.0 |[AE

5 [ERIEES 48 43 91| 21.0] 70.0 |[AE
6 [FK Ft 44 44 88| 140 74.0
1 |5% =& 43 45 88 | 14.0 ] 74.0
8 [k FEK 45 44 89| 15.0] 74.0
9 |ER A 44 49 93 19.0 | 74.0
10 [#LE BX 44 48 921 17.0 ] 75.0
1 [EH #17 44 47 91 15.0 | 76.0
12 |WR & 46 45 91 ] 15.0] 76.0
13 |[2x E= 47 46 93 | 17.0 ] 76.0
14 |pE F— 45 48 93| 17.0 ] 76.0
15 [l Fsh 49 48 97 1 21.0 ] 76.0
16 |8 —x 48 49 971 21.0] 76.0
17 X FFE 51 48 99 | 23.0] 76.0
18 [T & 46 51 971 20.0] 77.0
19 |18 =¥ 51 50 | 101 | 24.0 | 771.0
20 |HE BA 44 49 93] 15.0] 78.0
21 |%&0O A 50 49 99 | 21.0] 78.0
22 |ET #it 46 47 93| 14.0] 79.0
2 (B8 HEF 49 48 971 18.0] 79.0
24 B = 48 521 100 [ 21.0 | 79.0
25 [#|RiE =i# 49 49 98 | 18.0 ] 80.0
26 |ITRE BE 50 551 105 | 25.0 | 80.0
27 [#& #a 49 46 95| 14.0 ] 81.0
28 IR % 43 56 99 | 18.0 | 81.0
29 [zl E2 48 541 102 | 21.0 | 81.0
30 |$EEHF & 50 521 102 | 21.0 | 81.0
31 [E@ E 54 45 99| 17.0 ] 82.0
32 |iRET BAX 49 51 ] 100 | 18.0 | 82.0
33 |=ZH HRE 49 50 99 | 16.0 | 83.0
34 (Fek Ml 51 49 | 100 | 17.0 | 83.0
35 | Tk Mz 56 511 107 | 24.0 | 83.0
36 |FFHE #UE 46 52 98| 14.0 | 84.0
37 |M@E A 55 50 | 105 | 21.0 | 84.0
38 |HE fRER 56 51 | 107 | 23.0 | 84.0
39 |@ERE 18F 51 59 | 110 | 26.0 | 84.0
40 |BF  E3h 51 48 99 | 14.0 ] 85.0
41 |k MEE 50 541 104 | 18.0 | 86.0
42 |FEN EE 55 52| 107 | 21.0 | 86.0
43 [# Fnx 52 521 104 | 17.0 | 87.0
44 Rk HF 53 52| 105 | 18.0 | 87.0




45 [#xFHE 15 55 471 102 | 14.0 | 88.0
46 |HF NF 55 53] 108 | 20.0 | 88.0
47 |HE OF 51 521 103 | 14.0 | 89.0
48 |FR 1A% 49 63 112 | 21.0 | 91.0
49 |&h =B 62 53 | 115 23.0 | 92.0
50 |BE @it 57 56 | 113 | 20.0 | 93.0
51 |EH #F— 56 55 | 111 | 16.0 | 95.0
52 |HE F=E 65 58 | 123 | 16.0 [ 107.0

WA E HDCP

-BXEIEGLHDCPIE-ER&E L4




